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ZARHL ol gste] e Adtstolet,
(3% 2.99 4 97 x 2.99) + (5.8 X 4 + 5.8 X 6)

> E

> =gt 357

3% 2.99 + 97 x 2.99 = 2.99 x (3 + 97) = 2.99 X 100 = 299
58%X4+58x6=>58x%(4+6) =58x10=>58
. 299 4 58 = 357
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Fotolet,

A = {6 % 10}
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axb=a—-b+2°] 2slo] A & AHestH
A = {6 % 10}
={6-10+2}
(+6) = (+10) + (+2)
(+6) + (-10) + (+2)
{(+6) + (+2)} + (-10)
(+8) + (~10)
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o
-




4.  xo AEUighol 13,y o] Auigtol 4 oJth. xxy > 0 L wl, xy o] g427

O -52 @ 2 ® 5 @ 25 @52

S8 ~
x o] Adigfo] 13 0]B2 x =13, - 13
y o Adiglo] 40]B2 y =4, —4
xxy>0 9 WlEx=13, y=4FEx=-13, y=-4°|E&
xy=13x4 =52 EE xy = (-13) x (-4) = 52 °o|T}.




ull
&

R0

A

ull
&

RO

ul
E

RO

ul
El

RO




ojn




7.

ohe F ANTEIL Y AL g ek,




AFonE A7} 59 5 5 Aol o] Ael?

O -10 @ -5 ® 0 @ 5 ®)10

(AHORHE A7} 59 ) = (BRG] 59 &) - =5, +5

-5 9F +5 Afo] 2] A= 10 o]t
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15. ta& ALttt

1
-3%)+3+--4
(-3) +3+ 2

[
H =

| 2
[> L= — 0}

oH =

1 1
(—32)+3+5—4:—9x§x3—4:—9—4:—13




16. AHORHE A2} 3 el T 4 Afolo] A2 S Fatolet.

(@Ho =R A7} 39 ) = (FULO] 38 &) —~ -3, +3
~3 7} +3 Aol o] A}k 6 o]t




17, 2H¥ A2 o]-&5to] thg= AlLtstoi et
(103 x 3.14 — 3 x 3.14) + (20 x 1 + 20 x 99)

> E

> ME: 2314

B

103 x3.14 - 3% 3.14 = (103 - 3) x 3.14
=100x3.14 = 314
20 X 1+ 20 x 99 = 20 x (1 + 99)
= 20 x 100 = 2000
- 314+ 2000 = 2314




